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—F T TEH K B I
D1 70 A T W A T Nm 1,2 48
D2 5 Fo 1 45 A W i T Nm 1,2 T.X3
D3 16 o Arcmin 1 <5
D4 50 T 2 =
D5 A Nm/Arcmin | 1,2 6.5
C1 35 21 F] F i N 1,2 1400
C2 ! RETFEHA )T Fua N 1,2 800
C3 27 Y ES % 1,2 95
C4 3 o 1 1.4
c5 20 L K9 2 14
C6 12 B U C 1,2 -15C~+90C
C7 60 [ 3 5 4 IP65 B 35 64/ H
L1 | 125 147 gy
L2 10 i L1 L2
L3 | 40 62 DS060 |3.4.5.7.10
L4 40
M1
M2| M5XO0.8P
K1 5
K2 17




L1

; L L
T)
< C3 L—CZ
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D1 75 A T W A T Nm 1,2 60
D2 5.5 Fo 1 45 A W i T Nm 1,2 T.X3
D3 16 e Arcmin 1 <5
D4 60 & 2 =6
D5 A Nm/Arcmin | 1,2 6.5
C1 33 2R H Fe N 1,2 1400
C2 5 RETFEHA )T Fua N 1,2 800
C3 27 SIS % 1,2 95
C4 3 o 1 1.3
c5 20 L K9 2 16
C6 12 B U C 1,2 -15C~+90C
C7 68 [ 38 2% 4 IP65 i 6443 H.
L1 | 125 147 L8
L2 10 i L1 L2
L3 | 40 62 DS070 |3.4.5.7.10
L4 40 _
: T
M2 | M5X0.8P 2
K1 5 - 2
K2 17
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D1 105 (100) |z dmsE T, Nm 1,2 176
D2 6.8 g L] £ i HE B T o Nm 1,2 T.X3
gi gg T Arcmin ; %g
D5 LB Nm/Arcmin | 1,2 13.7
C1 54.5 IR ST F N 1,2 6200
C2 6 RETFENA )T Fua N 1,2 5200
C3 48.5 LB % 1,2 95
C4 5 . 1 3.2
C5 25 i K9 2 4.2
C6 15 B U C 1,2 -15C~+90C
C7 92 [ 38 2% 48 IP65 1 35 647 H
L1 | 168 195.5 L
12 12 s L1 L2 L3
L3 | 51.5 79
L4 50 DS090 | 345710 |35 8080 70.100 | 300400500.100.1000
M1
M2| M6 XP1.5
K1 6
K2 23
D3’ 22
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C3 51 e % 1,2 95
C4 5 1 4.6
&= K
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C6 27 e VL S C 1,2 -15C~+90C
C7 114 [ 8 25 4 IP65 I 2 644y H.
L1 | 170 198 I3 g3y
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C7 180 BHEE R IP65 I 5 6445 H
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D1 50 AF T W HH B T Nm 1,2 16

D2 3.5 e [ B iy i T Nm 1,2 T.X2

D3 12 e Aremin 1 <12

D4 35 T | 2 =14

D5 R Nm/Arcmin | 1,2 5

C1 26 FEFE ] o N 1,2 365

C2 5 REFEHE T Fia N 1 ,2 305

C3 20 B % 1,2 97

C4 15 1 0.8

& K

C5 16 = J 2 11

C6 8 R C 1,2 |-10C~+90C
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D2 5 bR 8 B K A LH BB AR Te Nm 1,2 T.X2
D3 16 e - 1 <12
5 Arcmin =
D4 50 = 2 <14
D5 R Nm/Arcmin | 1,2 7
C1 35 BEFEM /I Fr N 1,2 840
C2 7 WEFEHD /I Fia N 1,2 605
C3 27 2 % 1,2 95
C4 3 - 1 1.2
C5 20 =E kg 2 17
C6 12 BIERE C 1,2 |-15C~+90C
C7 62 B & Z 4R IP65 i % 687 H
L1 | 115 133 B e
12 8 meg . | LT L2
L3 | 46 64
L4 34 DHO60 | 345710 |30 sy sasrondn
M1
M2 M5X0.8P
K1 5
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D5 1 s Nm/Arcmin | 1,2 11
C1 55 REFEmE ) Fr N 1,2 6000
C2 3 ZXETHHE T FLa N 1,2 5000
C3 49 e % 1,2 95
C4 9) o 1 3.5
C5 25 TE kg 2 45
C6 15 PR T C 1,2 |-15C~+90C
C7 95 15 38 %5 % IP65 B 5 6877 A
L1 | 172 198 v
L2 10 g L1 L2 L3
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C2 5 P ST F ua N 1,2 3225
C3 51 &S % 1,2 95
C4 5 1 4.6
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D5 60 Rt Nm/Arcmin | 1,2 7
C1 35 BEFEOIFr N 1,2 750
C2 7 NEFEHO /I Fia N 1,2 545
C3 27 I % 1,2 95
C4 3 = 1 1.1
C5 20 - kg 2 16
C6 12 BIERE C 1,2 -10C~+90TC
C7 60 B SE 4R IP65
L1 | 123 141 ER 8
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C3 49 R % 1,2 95
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C5 25 = J 2 45
C6 15 PR C 12 -10C~+90C
C7 95 BiFiE IP65 It 64 4> H
L1 | 172 198 ELviy
¥, 345 i L1 Le L3
L3 | 26 52 45710 |1215.162021.2528. | 36.45.60.75.80.90.150.200.
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D3 32 Arcmin 1 =15
D4 80 T 2 =17
D5 I Nm/Arcmin 1,2 27
C1 58 REEEE S Fe N 1,2 7500
C2 o) FEFRIA ST Fua N 1,2 3225
C3 51 LGS % 1,2 95
C4 5 1 4.6

& K

c5 40 * J 2 5.8
C6 27 BRI C 1,2 -15°C~+90°C
C7 114 e e IP65 g 64 7 H
L1 | 170 198 ELviy
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MOTOR ‘GEARBOX
FS 532 HE 7 i 1 U3GEE BB A T Ui
6071 707! 907 120%0 | 150%! | 1807
A ST @S mm 8~14 8~14 14~19 16~28 | 22~42 | 48~55
il R mm <30 <30 =40 <56 <85 <95
5 E 4K OB mm | 30~50 30~60 50~80 | 55~110 | 95~130 | 95~155
SPERE P mm <35 <6 <8 <5 <10 =10
[i] 72 W L M mm T far R ~T
[ 72 R LB A mm | 46~70 46~70 | 70~100 | 70~145 | 115~145 | 115~145
[t 72 1R L3 & 4 4 4 4 4 4
M T B A DW mm 3 3 5 6 8 8
i ST Nm 5 5 11 16.5 40 40
= = N AT
QAT 5 T HH Rl S
DH 090 L2 - RI - S B A M -
Bk «—— T I»ﬁﬁ%%
BBl < T E AR
Eh 8 < > G AL TR
L8 B3 > L HEE L ETR
3,4,5,7,10 L1 > B[R
15,20,25,30,50,100| L2 > FESEHL
H A& Evg | WL | DHO42 | DS060 | DS090 | DS120 | DS150 | DS 180
8 1 1 3 10 0.018 0. 48 0. 78 2.3 19. 8 48. 7
ke - cm 1 45 7 | 0.018 0.3 0.73 2.0 17 46. 3
2 0. 09 0.3 0.73 2.0 7 20.5
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L1

al

L2

a

L3

/

/
! /: 1/ 4
LIy
79.37’42u Pt
| —I<
§ —| FavAvAEVAvVAVAVATAVALAVAVAVAVAVAVATAY, WWWJ#WWW‘V‘\J—V‘:\— K &
e © & | @ o] {ds
J < b1 \—fx45'
b
Pt |Module| Z | a |al| b |bl|d |dl| D |f* h | hO|hl| L |L1| L2 |L3|mkg]
6.67 2 75 625|317 24| 7 | 7 |57|11 | 2 |24 |22 | 8 | 500 |8.5[436.6|125| 2.1
6.67 2 |150(625(31.7( 24| 7 | 7 |57|11 | 2 | 24|22 | 8 | 1000 |8.5/936.6(125| 4.1
10 3 50 625/ 35 (29| 9 |10(7.7|15 | 2 [29|26| 9 | 500 |10.3] 430 |125| 3.0
10 3 |100/625/35|29| 9 |10|7.7]15| 2 |29 26| 9 | 1000 (10.3] 930 |125| 5.9
13.3 4 38 [62.5(333(333| 9 |10 |7.7|15 | 3 | 39| 35| 12 |506.67(13.8] 433 [125| 5.4
13.3 4 75 (625(333/333| 9 |10|7.7|15| 3 |39 |35 | 12 | 1000 [13.8/933.4|125|10.7
Pt= =6.66668 .M?2
10.00002...M3 =
13.33335...M4 =
/=
Fp:0.03/1000 mm
fp( mm) @; 0.006
3>; 0.008
C45EDIN 1.1191
a 20°Pt= =6. 66668 .M2
10.00002 .M3 =
13.33335 .M4 =
7=
Fp:0.03/1000 mm
fp( mm) 3 0.006
3 0.008

C45EDIN 1.1191

6h23 DIN 3962/63/67

a 207
197 31'42?

CP5.CP10.CP12
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